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1st Professional B.A.M.S. (Batch- 2021) Main Examination-2023 
Kriyn Sharir Subject 

Paper 
Paper Code 
Time 

focond 
~yUGKS02 

J Houn vtaximum Marks 
Minimum Pass. Marks 

100 
50 

Note: - All questions are compulsory. Marks of each ques1ion are indica ted in fro nt of 

them. Write answer of questions in sequence. 
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1 I . What is the site of haemopoiesis in embryo? 

(A ) Yolk sar (B) Liver 

(C) Thymus (D) Spleen 

12. Heparin is secreted by -

(A) Lymphocytes 

(C) Basophils 
(B) Macrophages 

(D) Eosinophils 
13. Duration of cardiac cycle at heart rate of 100 beats per· minute is-

(A) 0.4 sec. (B) 0.6 sec. 

(C) 0 .8 sec "' (D) 0.1 sec 

14. Cardiac output is equal to-

(A) Stroke Volume - heart rate 

(C) Stroke Volume x heart rate 

(B) Stroke Volume + Heart , ate 

(D) Stroke Volume / heart rate 

15. Antibodies which can easily cross the placenta-

(A) lg G (B) lg A 
,,. 

(C) lg M ~(D) lg E 

16. The contractile unit of muscle is called-

(B) Sarcomere 
.,-J" 

(A) Sarcolemma 

(C) Sarcoplasm (D) Sarcoplasmic reticulum 

17. LDL cholesterol is called bad cholesterol because -
(A) It causes low blood counts 
(B) It can cause blockage in the arteriey 
(C) It changes in heart rhythm 
(D) None of the above 
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I 8. Which · cells synthesize and secre te testicular hormone (Androgen) in 

man - . 
(A) Sertoli cell 

'tC) Spem1atogonia 

19. Renal threshold for glucose (mg%) Is -
(A) 180 -
(C) 240 

(B) Mucus cells 
(D) Ledig cells 

(B) 360 
(D) JOO 

20. Maximum amount of water reabsorptlon in kidney occurs in-

(A) Distal convolute tubule 

(B) Proximal convoluted tubule 

(C) Descending limb of loop of henie 

(D) Ascending limb of loop of Henle 

Section-B 

Short Answer Question 

(c>!t_J 3t1:fl./.l -«;f~irf) (8 X 5)=40 
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24. Aclctt;-~"'t=Rrr ~ 1=J:.c>r cfiT ;mr ~ g'I! ~~ ~ ~~ fi;ng I 

~ What is normal RSC count in adults? Write the normal 

Diameter, thickness, surface area and volume of it. -

,@} What is adipose tissue and what are Os functions? ~ 
crl>Jvrite the main functions each of testis and ovary,>1 

~ hat is sarcomere? Name the tissue which connects muscle to the 

bone. 

Section-C 

Long Answer Question 

(~ 3i1.flll ~~iil) (4 x 10)=40 
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--....... ~ r.. ~ 
~ ~ -3IT.13nft" »rcf ~ mcm,~ ~l&lll m- g~ ~ llfQ ~ ctll<-4 1<'1<51 t 

32. What Is the Menstrual Cycle? Explain the ovarian and 

uterine changes during menstrual cycle . 
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